57 1652 gh R eE R EPRESEE (R R)
C A AT

T

B I s #ic

wOE PN T # = iR i
103 8 & & 104 8 & & 105 & & &
7 P 518y 518y 5158
DHBALG AR 2 X % % %
B G R AR IR A
giﬁﬁm ffﬁ ” % %
- *R-JJ T/R‘—ikt s ~ ) R 32 opak B |
MRS S L % %
HoEr pL 3010 i = F % %
b et 120 4 F g i
%ﬁ§iﬂﬂﬁé$$ % %
5 2 103 8 & R~ 104 8 & R 105 82 »
= % |l = % |l =: %
g4 a5 ¥ e % |le: % |z %
= E B % |- & B % |~ & B %
|- % |- % |- %
~ i 4 b4 4f e | % b % |l %
- |7 EFE s E s A EETY A EET %

AFEEpAb=RELSFT

& OF 51008 &R 4285 %#k:

B4FpFI kT HEL

(105 & & &5 iR])

BEg 4@ * 1000ppm 4t

2h 7 Emy ppemigy L HE
RS EEF ARy (LA %
103 8 & & 104 5 & & 100 8 & &
% f 518 518 5188
FAMigd X % % %
= RBEME maogp e % % %
B R iEE L & % % %
B4 R e oL K % % %




(-)F =AY REL A A
(C)FBAHEYREL FE8m A
p R (COPFRARDAIRT 2 BEs 1055 ER S fu Lk
CDET S SN A(dpiTE R BEEFAERFAFL R
PRI 6 | PE 0L DV RAT G R Y P A PRl )
(1 )%ip%ka%ﬁﬁ‘&._‘(#ﬁﬁ—i 30 = o -5 i 52 5 40
(m)FFE 2 gEk(z 1 mt B)ky v ¥
;o|pngm(g | 1BFER__ S e ‘
ESCEE DIISIRE b iy —
(Z)F 2 7l G * Bk it %
PRI ET (7 CRRBPIRT 2 FLFBGpEEpHe ~ 232
2 BET(ZE| 2HPEFLEKTE BYTEZ A BT F )
R e 105 8 = & B S A ¥ 2
C|wormere |COFRFRIAMG CPREEI 106522 %
e (= W“’* EFIE RS DEES A /B

A Rt
EFR T
K1

SCH AP
- A4 R
(= )RR G HALS 2 2 =

4 #&]) x100%
()&mw%m*z* gﬁ

B
(Z)A+ 2 2 g B =
x100% ‘T}f

[ AL &t 4 7
(w )3 E* p2 3010 :F =

[l étei+ 2 282 &)/ [ARiLGFHRLKBE
e F=[amsGwmins 2 25 ﬁ*f&f%@mﬁf 4 #])/
1 x100%

CEIETTTEE S MACREL T ERE S

F=[3010 7 2 :E =+~ &) /[R5 & ~ #]) x100%

()% thigds 120 & & 2 ;%;}F,,;f‘ ERE T Plﬁvféif"* Cdofie £ T Sk
FEZCREEFRE S ESR AR b o B A 7 R p R ka
BFED 120 #45 -

(7 ) A3 3 36 BEBE R = Uﬁ%%j&?i#ﬁﬁ g4 ]/ [+ "’x*\)’j*u
FF2 %4 4k] x100%

=~ PE?{%F__

(- )F 284 [%&'gi‘ﬂt]/(ﬁif&‘ﬂt] x100%

(Z)F 2 8644 = [$p& A7t cng 2 £ #ic] / [$6% 5 4 5% 4 8] x100%

(E)?}iﬁﬂlfﬁ/ﬁv = [525p T Kﬂtwﬂt]/lg*i@‘ﬁ:] x100%

2R g A M FRFLAGTIING S B REP T D gy VA
FouE = T il o

PN -

~ O F ORI F = [ FRRE ]/ (2 4 4] x1005Ch 8 B F g 7
REREPM 2 pTAREE)

()2 7o 53 ’**’%gpp@adp W[ Faes B ERTREYIE 2 B4 ]
x100%

b EERE S Hp Ty At R : 10640 30 p 5ok o




7~ ARd R(92%)

B #a i

B 3=

GRK

1. idgh 5]~ % F &7
2 IR AT

(5%)
2.3 Kok 2 5 i
#2(7%)

3. & »(5%)

4. 5 47 5232 (3%)

(%03) &= Bk & 1= o ek o)

> EREEA AL
T 322 ERALGR
Poarar ) B
- T 5] G AR SR
Fored Rep 2 LM
(G HHRAAT) §F R
PR BT R
Pl BRI
# o

> O jEiRAE

> O RBP4
(g2 1)

L RE 418 Ry
i B e A A 5
B (2%) o

2-1-1 #e & F 4R 5 e i
B RAEAP B 3 a0 5B
=% LA CrE2) 723
Fokldey ERY
FoksFIEE

2. B Ry E 4 R
A R R
A Kl caiy
ﬁviLE(Z%)

2-2-1
(1%)
2-2-2 Feir § e &(1%)

RS R

3. HpE B B H P
FE BT FR
FREEY NP

e 4 et
FoFFINFEG R

57 (4%) ¢

(%8) w7 e 1

2-3-1 %t 7 % A (1%)
2-3-2 pde( £ )T % (1%)
9-3-3 # 7 % 4(5 U B
238 )2%




]."E\: P \\‘

!

oL T) 4

LR KREw 2 &

Era e S
PR AR R T
e TR A KE
FeEdsar (6%) -

3-1-1 R BT E Y AR

BRI

3-1-2 B/ M & B grfr B A

KEWMFERE(T
HE AT % 4F) o

3-1-3 -] ¢ & B IKEF B A

KEWMFERE(T
WA % 4F) o

3-1-4 B ® & & Fpr i 4

KERFERE(
WA K 4K o

-1-HD BEREFE = % 4

(' i* 3)

3-2-1 W& & 4p M 2Ae 3 &

(%8) R 6= % 1T 5B =3 4 - W

L0~ - BE ¥ ABGER A

50%.4 Z (' 4§

LA
i T b g | OO0
WA Fepr o e B
%tk g7 b g [T
R
540 18 | e gp| 1000
B A=Y (5%) - S1% 0

AR

100%

GFi &)

> GEFEEY X 1h
LB YEY e Pid s B~ R R
EEIALLE FANPUR SR B
With 3 53 EONE R oA
M RIS REFR BRM A AR
F2 848752 ER ¥ R B I
7 5 (5%) - > EFE@ 1 A5
L Es A

ko BB E R M %
Xé';?’%ﬁiff%ﬁ *%@ﬁfﬁ%‘fﬁi,ﬁ%?
(AT R EF 22} AL LT
EREBML R )RR
BRLA




E N L 5-1-1 HFAAEREZL &P
/; ;El:é'lll _'E' "i;;i&f’)’\ élf)zz = ﬁﬁ B FE ,]L“’ % &}‘
};; B ARL(3%) - L2 TP i By (RO%
IR (H2 BEXAGHE & AI)
G2 | 2.8 ENARA SR8 5-2-1 v %72 2§ 4 4phf i
o LS SN I
5\3 #BF&@ “t“{ F‘L%.l 5#(3%)
= «;ﬁr;{ﬁ(g/o) 0-2-24R4 7 R F 4 jphfic
§ohh R e
4(3%)
H-2-3 8 1=7 L HF 4 jphf iz
3R B R wEALE
45-(3%)
SRR ETET e R L
5 poacgIRyEE E 6-1-2 @ 5 iff 7.0 @
| AU - Gy TERERRE
G 6-2-1 Bl | W& &% » &%=
i 1 65T F A (1%)
5 oroiiis s LTSRS BE S
= R g b PIDETERCIA)
> 6-2-3 B-] § #5123k ik
] 315w B 4L (1%)
1. 2 & BEF AT T-1-1 ##33F 2%
BEFIE (T ALY B T-1-2 = % % & (4ort 12 2)2%
R i ¢
L2 e mE s W T-2-1 &8 % 2%
Wi & iriade AR T-2-2 = % & & (4o 1% 2)2%
% A
Ak ERAL(4)) -
EENEIEE-22% G ¥ ¥ T-3-1 E#2-4% 1%
A 287 it B IR H 7-3-2 % & & Br(den & D)1
Py i g # (2%) o
2 |42t E > FET RS kL
~ 7‘}"7}4’??' EN IR i I EEHEL(HFE
R ) ol Sl T-1~7-2 £4F)

BRSBTS H (6%) o

CELES 3°Y B8
e T




%~ 5 od #(8%)

7
108 =R2 1048 & L1058 &k 2 RME=§ 7 &3
B g Y ot W14 EERR S T
- | (n148ER- T &S (62. 46%) % 7 2
i |2 1058 R 2 E T 2.105 & & & =~ & 58 104 5
E | ) ER-~T EBBge oL
3% FH 4 0.2%( 7 ) E 1A
=
(*it 2 5)
105??3&'*’ 104 % = 1.105 8 & & >R+ 3 2 %
)izf’w‘% 2 LL@ "“104?&&5&]4\;‘» Ty
W | gER I &:&ﬁmu 2.105 gﬁﬁfi ‘Eh 104 #
4 : —&)}i]m;ﬁ%]hi Vo i 4o
i ) 8%( z u—r.ﬂz g
w30 0(%) @1
(it 6)
- 105§3§J *»E%fé. 3«104
U100 FE R ] w dhd 5 (33. 72/0>-ﬁ.g 9 i
@
5 (i & 7)
FREERA FPRA:
(% ek )
1"?‘%& Fgl . aE *,1’5\




